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QUESTION 1

A big screen television priced at $1250 is on sale for $850. Calculate the percent savings. 

A. 16% 

B. 32% 

C. 40% 

D. 56% 

E. 68% 

Correct Answer: B 

 

 

QUESTION 2

How many inches are there in 4 feet? 

A. 12 

B. 24 

C. 36 

D. 48 

E. 52 

Correct Answer: D 

 

 

QUESTION 3

An empty trash container weighs 32 pounds. If this container is filled with a load of trash that weighs 122 pounds, what
is the total weight of the container and its contents? 

A. 3.81 pounds 

B. 90 pounds 

C. 144 pounds 

D. 154 pounds 

E. 3904 pounds 
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Correct Answer: D 

 

 

QUESTION 4

A savings account earns 4% annual interest compounded quarterly. How much interest would $500 earn if it was
invested for one year? 

A. $20.00 

B. $20.30 

C. $54.20 

D. $84.93 

E. $200.00 

Correct Answer: B 

 

 

QUESTION 5

A recipe calls for all the liquid ingredients to be mixed together: 2-1/4 cups of water, 4-5/8 cups of chicken stock, and 1/2
cup soy sauce. How many cups of liquid are in the recipe? 

A. 6 cups 

B. 6-7/8 cups 

C. 7-1/4 cups 

D. 7-3/8 cups 

E. 7-3/4 cups 

Correct Answer: D 

 

 

QUESTION 6

How many acres are contained in a parcel of land 150 feet wide and 250 yards deep? 

A. 0.86 acres 

B. 1.75 acres 

C. 2.58 acres 
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D. 5.16 acres 

E. 539.03 acres 

Correct Answer: C 

 

 

QUESTION 7

A company is manufacturing the special-ordered part pictured. The company charges by the number of cubic inches of
volume contained within the nut. In order to determine a fair price, you must know the volume of the part. Find the
volume to the nearest whole number. (Note: The part is a cube with a cylinder deleted from its center.) 

A. 840 cubic inches 

B. 848 cubic inches 

C. 1679 cubic inches 

D. 1696 cubic inches 

E. 3375 cubic inches 

Correct Answer: C 

 

 

QUESTION 8

Janette walked 6 miles in a local walkathon. How many feet did she walk? 

A. 18 feet 
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B. 18 feet 

C. 5280 feet 

D. 10,560 feet 

E. 31,680 feet 

Correct Answer: E 

 

 

QUESTION 9

A construction company is building a new staircase. You previously determined that there are to be 14 risers and 13
treads. However, you forgot to write down what the width of each tread should be. Determine the width of each tread. 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 
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Correct Answer: E 

 

 

QUESTION 10

John waits in line for 1.5 hours to ride the Screaming Demon roller coaster. How many calories does he use? 

A. 111 calories 

B. 156 calories 

C. 234 calories 

D. 312 calories 

E. 2340 calories 

Correct Answer: C 

 

 

QUESTION 11

The factory where you work builds children\\'s wagons. In order to make each wagon the following bolts are needed: 

Four 4 mm bolts per part Six 5 mm bolts per part Ten 8 mm bolts per part 

The schedule for the next two weeks is to build 20 wagons per shift, Monday through Friday. There are two shifts. How
many bolts must your company order to support the production of the wagon? 

A. 200 

B. 400 

C. 2000 

D. 4000 

E. 10,000 
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Correct Answer: D 

 

 

QUESTION 12

You ordered new uniforms for work costing $56.45 altogether. The sales tax rate is 6%. The uniforms were delivered
this morning and you have $65.00 in your wallet. After paying for your uniforms, how much money will you have left for
lunch? 

A. $3.26 

B. $5.16 

C. $7.61 

D. $8.49 

E. $8.55 

Correct Answer: B 

 

 

QUESTION 13

The cost of producing a certain item is given by the expression 7.99x + 125, where x is the number of items produced.
The revenue generated by selling x items is given by the formula 3.24x + 175, where x is the number of items sold.
Determine the minimum number of units that must be sold in order to turn a profit. 

A. 10 

B. 11 

C. 26 

D. 27 

E. 64 

Correct Answer: B 

 

 

QUESTION 14

Tom is buying some additional building materials to complete a job. The doors total $219.00, the blocks total $175.46,
and the bags of cement total $65.28. Using his trade discount he will receive 10% off on the blocks and bags of cement.
Including 7% sales tax, what is the total cost of the materials? 

A. $442.73 
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B. $448.74 

C. $466.16 

D. $473.53 

E. $537.90 

Correct Answer: C 

 

 

QUESTION 15

To prepare a bathroom cleaner, the ratio of concentrate to water is 1:5. If Samuel uses 1 quart of water, how many
ounces of concentrate should he use? 

A. 10 oz 

B. 32 oz 

C. 64 oz 

D. 128 oz 

E. 160 oz 

Correct Answer: E 
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